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Graphs of Functions:  Intercepts and Symmetry  (Lab Manual Unit 11)

Our concepts of the Graphing Unit carry over to Functions.

The graph of a function is constructed by assigning the function output to the
y-axis of the graph, i.e. ¥ = f(X).
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Intercepts:

To find the y-intercept of a function y = f(x), we set x=0.

Note: unlike other equations, functions can have at most one y-intercept. They
may also have no y-intercept if the point x=0 is not in the function’s domain.

To find x-intercepts of a function y = f'(x), we set f (x) = 0 and solve for x.
eg) Find the x- and y-intercepts of
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Symmetry:

Functions can be symmetric across the y-axis.
We call such functions “even”.
We test “even” symmetry by checking if

f(=x)=f(x).

Functions can also be symmetric across the origin.
We call such functions “odd”. ~f

We test “odd” symmetry by checkingif/ Ty
f(=x)=—f(x). y
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Eg) Test for symmetry:
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